STEVES

203 Humble Ave.

San Antonio, TX 78225

SINGLE
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

STEVES AND SONS

DIRECT GLAZED FIBERGLASS DOOR

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base

material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x

buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering analysis by

a licensed engineer or registered architect.

[ X~]

1/4 LITE

REGENCY HORIZON 1/4 LITE

1/4 LITE 3 LITE

June 7, 2022

81.5" MAX. O.A.

TABLE OF CONTENTS

68.5" MAX.
OVERALL FRAME
WIDTH
7 | [ | / ]
g ¢ |k aiia
z <
2 o'%
£ 2= .
© =25 o
T B (@) X 0]
w : T
S 8w
< >
& =
||
CONTINUOUS HEAD & SILL

=

SHEET # | DESCRIPTION

SHEET #

- W
 FRAME

RESSURE (7S

X 37.5"x 81.5"

X0, OX, OXO 68.5" x 81.5"

1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)

2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite Panel Details 10 Vertical Cross Sections

4 Door Panel Options 11 Buck Anchoring

5 Elevations 12 Frame Anchoring & Hardware Details

6 Horizontal Cross Sections 13 Bill of Materials & Components

7

Horizontal & Vertical Cross Sections (2X Buck)

n
[9)]
n
.M
oM
Z
___],\
rom
26w
Z 900
. EEm,
° 4 0w o
2>z
)\\\ % .
o
W 5 8oL
2 OGN - 0
o o o
- © O XzZz0
° ¢ Z 9
t Eo 700
D.%O O . cuw
a8 5024
L T¢ DD
2L
tE _o¢o
[}
E 6% §
3 UV .
g su
a 2o e%
%)
Ll
=
nex| B
20 Q-
Q <
o] =G
P O =
AE gy
aﬁ Ll
= 7 n
oDl oW
SRS
3 gy
o 0
2 =
o B £
o
& &
>—
o
%)
pd
o
%}
x
L
<
fa)
o
=
DATE: 3/10/22
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41467.6

SHEET _] oF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.6.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



\\\‘ I//
I 2.4" -] @@ |t ".2" 2.4" \\\\i . ,f-.._.‘ &;,/,/
I | et ' ' ~ o ‘. N
orsaos ~ o5 & % 1
= T = T 5y 8§ KE TR
_ S L % v COMPOSITE ¥ IOl Yk BES=Eos
R N N = % NN X CAP .1('”.“.j 4 & osp J 0w
—_— AP i 2 o... .... \s E ‘g O; o
ook I Sl AN ' B 22 e kPSS 528
: oy R :
INTERIOR T DLW 2552
HINGE STILE LOCKBLOCK ~ LATCHSTLE  COMPOSITE & 5 Oq B
COMPOSTE 1oy / 1"\ HORIZONTAL CROSS SECTION 19.75' LONG (v CAP TOP RALL t 5% o0x9%
2/ (v W SIRELEY
, LR § ¢ =Zgon
7 SRR ql* "% 3aal
GLASS BITE T SR
— 1"O.A. THICK GLASS e SIE 6%
INTERIOR (UL gz 2.
- 2 ’ ’ 7'. o 2 ,° K
e U\ /8" TEMPERED GLASS S o _Jo
el DECORATIVE INSERT e
GLAING <# '» [/ i #
3575 MAX. DOOR ___ 3575"MAX. DOOR COMPOUND | " "oy, O -ARSPACE SR NS
WIDTH WIDTH et / T 1/8" TEMPERED GLASS IR FIBERGLASS SKIN 2% 9
22.25" MAX. 21" MAX. EXTERIOR R = 38 =
D.LO. D.LO. SINGLE LITE (3X) SWIGGLE SPACER -J s |s BH
D w/ FALSE MUNTINS Gl Q3|3 ~u
nE B F
] o 1%} % <
7 2 / ; 3 S
4R / 4 / GLASS BIE ™ # 8 e
1 d Ve T EXTERIOR g =
2/ J - J 1 INTERIOR 1" O.A. THICK GLASS R INTERIOR LI
/ 2 U 3 >
< : = 1/8" TEMPERED GLASS o
in .« u @ — /—
=5 35 ot GLAIING ;
5 20 : =9 &R ING <J™ - * @@
O 3g % T T COMPOUND<- . \ S
i = 0 25 < [ AIR SPACE P L
. 2 .
%83 R Py == I — T ™\ TEMPERED GLASS il
Qo — 0 E EXTERIOR — e 2
. ® 7 ﬂ ALUMINUM SPACER ey o
3 X X ’ @ GLAZING DETAIL a0 =
o in B \ S I
A O & ——
SEE HARDWARE TABLE ] N RN
(LATCH & DEADBOLT) // LIRS
SEE HARDWARE TABLE | FOAM CORE — I, .~ ,* - &N
(MULTIPOINT LOCK) (POLYURETHANE) || ». — "
Kkwikser | LATCH: SIGNATURE SERIES . - S
DEADBOLT:  SIGNATURE SERIES (980) BOTTOM RAIL ———{E= < S
omacr | ATCH: — RElNF(()fvci;sMENT 2
DEADBOLT:  B4ON oATE: 3/10/22
LATCH: PREMIUM HANDLESET BOTTOM RAIL— 1] L] Bl SeAE  N.T.S.
40 ) FIBERGLASS DOOR PANEL 40 ) FIBERGLASS DOOR PANEL ROCKWELL | i hBOLT:  PREMIUM DEADBOLT (COMP) DWG. BY:  RW
1/4 LITE Y/ 114 LTE 3 LITE ok B LFS
PREMIUM MULTIPOINT HANDLESET SRS o
ROCKWELL w/ DEADLOCKING TONGUE ("2 VERTICAL CROSS SECTION FL—41467.6
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. MULTIPOINT LOCK \2/ :
CORE MATERIAL: POLYURETHANE FOAM SHEET 2 oF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.6.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.




"ON| SLNVLINSNGD SNITTHAE “M'H 2202 §

aliiiliis
v '

186 ‘ON Ansibey 3dg4
L6L6'6S9'CL8 "ON suoyd Sv14d IINvd g SNOISIA 3Iva [ON
G6SEE 14 ‘OSUIDA ‘OEZ %08 O'd \Su airaais Nylzlo] < w_
“ONI ‘SINVLINSNOO SNIaTINg @ TCIGW3SSY H0 1avd Sl |* = |8
$$:_:::¢ =|Z g -
////Mkﬁ J&.ZO\Q 2, 60¥S+ ‘ON “I'd 400Q SSY 1943814 - & & o 1, 3_
///.W/ou....ca.ﬁmw..%. Y, WPIUSS "4 UopUAT SNOS % S3AILS " m B2 &
~ .- %, W7 :Ag peipde.d sjuewnaog :10NAaodd m 7] M M W %
-

TTOT ‘L dung

.

QE)

INTERIOR

‘-N-F I, . et~ .
yomy 12 4 __SVA ._SV‘

A\Y
\
. .
4, !
g LT
A\ oo
W

CAP \

COMPOSITE
EXTERIOR

(LVL)

/ 2"\ VERTICAL CROSS SECTION

vy ——|F

TOP RAIL —f
CAP

BOTIOM RAIL

FOAM CORE
COMPOSITE — |

FIBERGLASS SKIN

EXTERIOR
INTERIOR

ILE REINFORCEMENT
(LVL)

\

STLE g7
LVL)

(

\

m HORIZONTAL CROSS SECTION

COMPOSITE
CAP

b
M
,///
O
&

@HBERGLASS SIDELITE PANEL

a 1HOBEH ANV W64

i : -

it

2 3 AU

wxr OF _ IHOIEH
<0 % m "O'TA XYW .SLS1
2z 3

m_ A

©

FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

FIBERGLASS SKIN: 0.08" MIN. THK.

BMP9’ L9t 7-14\0202) 29vLy-1d\sBuimelq - D\STIS ADNIDITY L9¥1p-14\s|eroiddy 1onpold BPLO] - Y\JuduBWId - SUOS pue S3AIS\SIUSIIDNZ



"ON] SINVLAINSNOD 9NIaing "M'd 2202 @

€186 ‘oN Aisibey Idad SNOISIATY
L6L6°6G9°CLE "ON euoyd F
GBESCE T4 ‘OJMDA ‘OCZ xo0g "O°d § SNOILdO FINVd €000 A8 d4Lvd_[ON ﬂ A EI I m 74.lu_
"ONI ‘SINVLINSNOO ONIGTING @ KTBNISSY 90 1avd S1=|%|= LS5
RSP ¥00a SSYI0M3dld e 25|
////4@ JKQO\Q&A\\\ 60¥SH "ON "3'd SNOS % SIS ™ (B &g ]
////«.v&ﬂEof %, WPILYDS "4 Uopuky i m slelEE|BE
~ .w . *., Y. :Ag peindeld sjueiinsog :10NA0Yd HEIRE m @
. . - 3
~h x4 T20¢ ‘L duny
¥ ¥ X2 _RZ
” . 60vEY 'ON N -
z RN
-~ *e y
\\\\ & .oowzmo.ﬂ\/.ooot) .I//,
\\\ Q\S.:.om-w //
\\\\ Io ////
IO

w
= -
= - —
. @) = W
ol
- Q
> )
S
@)
w  Z
e O M —.P-N
- oz
® O
= m
h —
™ L
— L | —
. X .._....m. ”._
T X
—
<
O
N
o
O
=
o
IO <
< < o
=

BMP'Y 9% 7-14\M0202) L9vLp-T4\sBuImeIq - D\S31d3S ADNIDTY L9vLb-Td\sjeroiddy 1npoid epLOl - Y\JUBUWIBd - SUOS PUE SaARIS\SIUBIDNZ



TON| SANVYLUINSNOD SINIging "m's 2z0oe @

€186 ‘ON Ansibey Idgad SNOISIAGY

LBLE'6S9'CLR "ON auoud g J1vad [ON © | ™
S6GES T4 ‘O9UIDA ‘OZ Xog ‘O°d g SNOILYATT3 N s 2 AN 1_
"ONI *SINVITNSNOD ONIQINg g. KIBNassyY 90 Lavd W.M .25

A O. -
N Z < 5_

. - 000 SSvi1o434i4 L) | g i

BOVSY ‘ON ‘I'd

IPIWYDS "4 UOPLAT SNOS % S3ATILS o m w m £ .
:10NA0¥d HEIHHEE &

s pd
O
<t 0 _ VA ﬂw Wm
) a Wm
X - i
ool L9
[
~ @)
0| o
OSSP PR
— —
L= 2 12
z
oo o5
«t| o~ — aw MW
h ] B4
iid
<t| 0 < N nw
_ S
<N H-s
|/ b
i ] e 0D e O~
[=)
zl . O
o2 Z
<>
Lii
35 E
W Qo
5U <™ £ Zw

D BE

FOVWI QIJOJAINW

ELEVATION
X

BMP'Y° 2901 -14\0202) £97Ly-T4\sBuimesq - D\SINIIS ADNIDIY L9¥Lp-Td\s|erciddy 1onpoid epuojd - Y\JudUeUlIsd - SUOS pue SIARANS\SIBIDNZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.6.dwg

NOTES:
1. Sidelite assembly screws located @ 3" & 19" from
each end of mullion (4 fotal).
2. Moulding secured w/ 16 GA. X 1" brad
nails located 1" from ends & 6" 0.c. max.

SEENOTE 1

m HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

(4
0
<:Z N
Z:m.“-g_no
PR
.' "Co’
P 558
o 3.7
\ 5§R%°5
b O N« 0
o, x 9O
32 28%¢
5§ Eo FPo
a2 £o 8 .cuw
~lE B3y 5028
alr ¢ nDoaoik
Sle v,
ﬂ\ 2§ o2 §
L E o
HE N R
SEENOTE 1 —le Jo
INTERIOR
— 7
28 2
QO O
"o S5
.y =
-3 |3 89
z 20 &l S
l__ﬁi_, o To
R RS
Bl % |z
8 o
'-..
g |Z
EXTERIOR @ 34)12 &
/2™ HORIZONTAL CROSS SECTION ”
w Outswing shown {Inswing similar) Z
N
ol
o
g
z
L
2 |
o 3
n
¥ Z
O [a]
Zz &)
DATE: 3/10/22 |z
SAE: N.T.S. |3
DWG. BY: RW ﬂ:g
cHK. B:  LFS 2
DRAWING NO.: z
FL-41467.6 |
N
©

SHEET _6 oF 13




ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.6.dwg

N
1-1/4" MIN.

&
d

I ——

. i} S
4 . SV

U
. ds a4

=L AAKRARRANNRER RSN

0.15" C-SINK
(TYP)

|

INTERIOR

(®)

EMB. (TYP.)

NOTES:

EXTERIOR

(@)

/"1 \ HORIZONTAL CROSS SECTION

Shown w/ 2X Buck
Outswing shown {Inswing similar)

1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb (6 fotal).

2. Moulding secured w/ 16 GA. X 1" brad nails

located 1" from ends & 6" 0.c. max. 7
3. Anchor @ head is not required for single door (X} only.

SEENOTE 1

INTERIOR

1-1/4"MIN.
EMB. (TYP.)

/" 2"\ HORIZONTAL CROSS SECTION

7 / Shown w/ 2X Buck

Outswing shown (Inswing similar)

A\

A

EXTERIOR

m HORIZONTAL CROSS SECTION

SEENOTE 2
(TYP.)

®)

-

1Y

1-1/4" MIN.

Shown w/ 2X Buck

Qutswing shown (Inswing similar)

EMB. {TYP.)

EXTERIOR

JHORANVRVARRAA

W

INTERIOR

/“ 4"\ VERTICAL CROSS SECTION

7

Shown w/ 2X Buck

QOutswing shown {Inswing similar)

EXTERIOR

W

INTERIOR

/"5 "\ VERTICAL CROSS SECTION

7 / Shown w/ 2X Buck

Outswing shown (Inswing similar)

June 7, 2022

SHEET _7 oF 13

0
o
0
.M
oM
4
£ N
m.“—mn
E o
Z O0gp0
St
oo o
N 3>N52
3\\\ 26w
W §3°5
kY onN - 2
Lo o ‘o
3 g3id
£ fe £0y
2o 8 .cuw
e 4y 302§
LT oo oL
2L,
€ g
® C
E 67 §
3 UV .
g su
a 2o
=
22
S@m
0 =
28 | &8
R 5
A
@ =9
Q2 |3 =5
[ ] zo
oE |0 S
B |n ]
N
L 0RIS 2,
6 e S
S o] ¥O
g
8 S
& %
o o
>
m
%)
=z
O
0
o
&)
z
n
wl 15
s <
< I
gl |3
n
+ Zz
ol |o
=l lo
4]
oaTE: 3/10/22 |z
Q
scAlE:  N.T.S. 8]
3
DWG. BY: RW o
cHK. B:  LFS 2
DRAWING NO.: g
FL—41467.6 P
N
&)




7
SEE NOTE 3 Mo,
8
X
B:ZE2 .
. g.: 25 Ebon
*T e ZiOSP 555
v o v » \\ Z 0 . 8
) -. Q\\ < :l:— %’
ST D8 558
0 * X gones
. N \\ za 5 >
~ & 8 . B
CAVARV Y £ Ep E£my
NN §69 Zs60
o (40) gl %2 BEEE
e % INTERIOR Qe v,
| s
Q- 3 UV .,
:'m/é/mmm:/m 5 § E\E %
Q. . v :
| 8
<. ; EXTERIOR INTERIOR SR
\ T 2% | &x
o EXTERIOR 38 ¥
~ / 4\ VERTICAL CROSS SECTION s |5 %2
. 8 / Shown w/ 1X Buck 0w |38 22
1-1/4" MIN. o @ g Outswing shown (Inswing similar) Wy |3 Bo
A EMB. (TYP.) ol RN
5% |8 &3
/1" HORIZONTAL CROSS SECTION /2" HORIZONTAL CROSS SECTION 3 |° =R
8 / Shown w/ 1XBuck 8 /Shownw/1XBuck e g ©
Outswing shown {inswing similar) Qutswing shown ({Inswing similar) a o
e %
SEENOTE 1 "
z
INTERIOR o
0
o
[t
Z
< G Ll
EXTERIOR ‘ T ew EXTERIOR INTERIOR <
@ . \
N :
' {5\ VERTICAL CROSS SECTION e 3710/32
. W Shown w/ 1X Buck
NOTES: 1-1/4" MIN. Outswing shown {Inswing simitar) SCALE:  N.T.S.
1. Sidelite assembly screws located 4" from each EMB. (TYP.) DWG. BY: RW
end plus 4 more equally spaced along jamb {6 total). CHK. BY: LFS
2. Moulding secured w/ 16 GA. X 1" brad nails m ggvsggfg‘%ﬁ CCéROSS SECTION DRAWING NO.:
located 1" from ends & 6" 0.c. max.. Outswing shown (inswing similar) FL-41467.6
3. Anchor @ head is not required for single door (X} only.
SHEET 8 oF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.6.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



W /
Sa T T
SQ -'.. ". %;’ g
~ d A ; [Ty]
SEE NOTE 3 Zg SISy 8 TAECRE
33 =5ig ¢ HE SR
» 7 T 28 s &85y 2D
= A Ol 5o
A A NONEETE
\ %, > P8 5585
o . ) . /,/, 3 \\\\ a >wZz
, : . AN -~
/ bv L - X I,l“ \\\ §§m'%\
e - 2 T 0o xS8
: » 73
tEs 598,
INTERIOR § 6% Zg680
Qi "2 @aal
——— Sle v
8 £2 §
g ol 87
E § S‘E @
ge
53
EXTERIOR EXTERIOR INTERIOR 0z | 2=
= S
W 38| Ee
|8 |5 ¥5
) 1-1/4' MIN. /4 "\ VERTICAL CROSS SECTION 03 |5 <8
| _1-1/4"MIN. EMB. (TYP.) 9/ Shown Direct fo Masonry %8 B8
EMB. (TYP.) Outswing shown {inswing similar) = |2 ‘Sm
/1" HORIZONTAL CROSS SECTION /"2 HORIZONTAL CROSS SECTION g7 o 82
\U Shown Direct fo Masonry 9 /Shown Direct to Masonry 2 °l &5
Outswing shown {Inswing similar) Outswing shown (Inswing similar) 3 El O
Zg & I
SE
C %5 &
e
. e L)
v ¢ ‘b \
) g v ’ ’ )
SEENOTE 1 ' Z
; N
INTERIOR Q'
~
o
SR ' EXTERIOR 3
EXTERIOR . \¢ INTERIOR i
SEENOTE 2 L pa
(TYP) L /5 "\ VERTICAL CROSS SECTION o 3,/10/22
« 9 / Shown Direct to Masonry SCALE:
! Y N.T.S.
NOTES: 1-1/4" MIN, Outswing shown (Inswing similar)
1. Sidelite assembly screws located 4" from each EMB. (TYP.) ~ owe. B:  RW
end plus 4 more equally spaced along jomb (6 total). CHK. B:  LFS
2. Moulding securd w/ 16 GA. X 1" brad nals muomzonmtt CROSS SECTION R
located 1" from ends & 6" 0.c. max. Shown Direct fo Masonry FL—41467.6
3. Anchor @ head is not required for single door {X) only. Outswing shown {inswing similar) —

Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020\FL-41467.6.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



*ON] SLNVYLTINSNGD aNIgTing "My 2202 @)}

€186 ‘ON Ansibey Idad SNOILOIS SNOISIAZY
LELE°6S9°CLE "ON suoud F
GBSEC T4 ‘O9MIDA ‘0E£Z Xod ‘O'd \Su SS049 WO A8 ¥ ON) oy IEAIA ~ m_
md_. ..mkzﬁ.smzoo oNIgTINg K TaN3SSY 40 Lavd W ~| &3 ©ls
N WWNO, L, N 2|2
R 07324/ S ¥00a SSY19¥34i4 o o -
SBP, O, L, SOvEY SN T SNOS % S3AILS Pl lEBlE L
//&/-‘agwo-&\\\ WWGK.MF m
S .t ‘e Vs :Ag poeliodeid sjuewnooq :10Naoxd S W 5 W 5
34 %z ZT0T ‘L Sung
3 ¥ i3
- 60VEY ON ¢

.‘. .- I’l
G A &
U, \Q\SIom > z////

INTERIOR

7

/“ 4\ VERTICAL CROSS SECTION

w Outswing Threshold

EXTERIOR

®

{'dAL) "aWd
NIW JF/1-1

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

W Outswing Threshold

EXTERIOR

('dAL) "gwa
NIW F/1-1

EXTERIOR

A

/"3 VERTICAL CROSS SECTION

W Inswing Threshold

,, R
R —_ Q
. . a "4
-l -~ -
as W .......u.
e 2] “
[o% ° “ ”
= o e, - Olo ('dAL) ‘gw3
5 i 2 &(2 NIW /171
< H I el m
= |
g ) o
o I ) [~ 4 .M
Q@ < wia
mv P o >
73 ! b
Prmll .A v mw
d [
) ,
S
g o
= &
2@
= (*dAL) "8W3
© NIW F/1-L
@]
i
., ©
[0}
o<
Zl

Bmp'g 297 LE-14\0202) L9t p-T14\sBuImeIq - D\SIIYIS ADNIDIY L9¥Lp-Td\s|eroiddy 1onpold epHOLS - Y\JUSUEUL - SUOS pue S9ABIS\SIUBD\NZ



TON] SLINVATINSNGD aNiging

‘MM 2202 O

T SORF .

GBSEE 14 ‘OOMIDA ‘OCZ Xog O'd \N\MV IONIHOHONY Mang A8 31vd_[ON n& GBI _._Su n_m B_
NI _..mhz<.5:mzoo oNIaling \K. KIENISSY 90 Lavd WM I
\\ 11, NG S ™ | e

W NG S gl T IH

0\ Q1777 . -3 4000 SSY1943814 Op) - i
%ﬂ@&”ﬁﬂm&-ﬂ“.\.@g \\\\\ ab_rmmo,ku.v.h_ O_.Qovm\m SNOS % S3AIIS i M w W m g &
SR ‘1oNaodd HAEIHEE 5

| (dAL) XYW
- _A':E 90,91
* :.V
* I i 1 1 t
= -
g e
. -
T E oy X
Ex Q E O
vy =
ST 2 2
N = [ <
CL» ﬂ ..4“.‘ - ....w...
! . _ ] ] g
9:.” ¢.m . 1... .u.c R . ¢.v.. ...4 . r.c 4-
:4.. . ..v. ‘c. ; g vav .4... 5 uv..
(dAL) "XvW
. ‘Aii (dAd) ‘00,91
J _—V
0.
Al o
£ | t t i f 1 m
v N
s « M. Mnu
M 1 - H
& * = vOA m
(%2} LN
R g s o <
h V4
2 <= = <
% ; QO
N SE e >
. 0 "
...-.A.- m u.v.cl B
Pl >¢
O [ ] ] ] 1 ™N
<8
| - (dAL) XYW
« 0091
] 1 1 1
— < - r iy
- o ‘.
ol ’y. X_
I E e
m —_
] i | | L TSE
RS ] .‘. ..u.. : v 3 ..n.. .T. o... .0 » 5 N
A PR e S — s R O
S oo 2
TE s
(o}

6mp'9°29vLr-14\0202) L9¥Ly-1d\sBumelq - D\SIIHIS ADNIDIY L9¥Lp-Td\sleroiddy 1onpoid BPUO]S - Y\IUBUBULIRG - SUOS PUB SIASIS\SIUSID\Z



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.6.dwg

FRAME CORNERS ATTACHED w/ {3) 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2)

% 3.5"X 4"20 GA. STEEL PLATE ATTACHED TO

#7 X 2" DRYWALL SCREWS @ HEAD & SILL (TYP.) MULLION Efgfg,fé?féi’\g;’(é‘” 1" CROWNX
3 6" (TYP.) —= A ©E |
- ‘ 4" (TYP. =
1 T - e
| RN - | SEEHINGE T
} } M oAl o —g 5
L& o (TYP) = 1 E
(L)2xBuck o 2X BUCK == =3 53
- -4 F - K -
lXBUCK 1X BUCK o) b = foXe)
DIRECTTO DIRECTTO NS * o BO 7 g
- MASONRY —|| — — MASONRY —_{— = ANEE < l *\\ a
JAMBS HEAD & JAMBS T i i N
| o (TYP.) ‘{EE; Lﬂ__ %
- 4 - - | i i :
= Y S o
GE JE o = | HE
— — - = e —l O ) "y
<% =2 § )\
FRAME R DOOR SILL = SEE LATCH &
(TYP.) ™~ (TYP.) ERE DEADBOLT STRIKE SEE MULTIPOINT LOCK
- - — T DETAIL STRIKE PLATE DETAIL
ol — % [TYP.) |~ (TYP.)
X X0, OX outswing  HINGE JAMB/MULLION  STRIKE JAMB/MULLION ~ STRIKE JAMB/MULLION
o MULLION LATCH & DEADBOLT MULTIPOINT LOCK
INSWING I\
INTEGRAL MULLION ATTACHED TO 4" [TYP.) . o \
HEAD & SILL w/ (3) #10X 3" FH £ (TYP) — e SIDETL:,T; SILL \ ‘/®
COMPOSITE DECK SCREWS (TYP.) ] ‘ (TYP.) DIRECTTO é@
: —{— MASONRY
_«\\\\ 1 \ MASON 1X BUCK :j:ﬁj X BUCK N
2X BUCK @ \@ DIRECT TO 0
- (L)2xBuck - o T o 2X BUCK \ MASONRY " E[) (12)
H - ® L0~ I_< A\
o 1X BUCK @é; 1,2 @ ROCKWELL MULTIPOINT LOCK HARDWARE ROCKWELL HARDWARE
- DIRECTTO _
MASONRY N N "@
HEAD & JAMBS T ‘E
(mve. _ HINGE DETAIL MASONRY 7 OF PLATE
- - INSWING xsuck () )
OUTSWING &
Q 533 DRECTTO ~ 2XBUCK @ @<
nswina (P) = =l 9% \ MASONRY BACK PLATE
SIDELITE SILL - = 1X BUCK =
(P DOOR SILL \
e [ el i:
(:%égéa_a &<§ﬁ69 1X BUCK X BUCK E}\T:D
OXO DIRECT TO DIRECTTO \
MAM \ MASONRY MASONRY \
KWIKSET HARDWARE SCHLAGE HARDWARE
HINGE DETAIL
FRAME ANCHORING SUTSWING HARDWARE DETAILS

0
[0:]
Te ]
.M
o™
Z
__,_jl\
LTom
2 son
ZOogo
2t
[nggt-— .
4 Dwo
2>z
D\ 25%
% 5R" %
8 s o
- T O Xz o
e ¢ z 0
Lt £ XDy
g £ o n
a £0O d . E
83 5028
77 mdai
2w
c 0
& C
E 6% §
3 UV .
6 su
a Ao a%
o 0
=8 =<
SR Eh
1] gQ
0
.n OLLI
Qg =
n o <<
W = =
EQ: o Wo
R
. U)II <] X1
5 x h'éa
3 o
el &
o o
>_
n
]
=z
O
2
|
o
L
<
o
o
Z
DATE: 3/10/22
seae:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41467.6

sHeer 12 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.6.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW {1.15" MIN. EMB.) STEEL

M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL

P 1/4" X 2-1/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL

1 COMPOSITE JAMB COMP

3 COMPQOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM

8 SWEEP VINYL

9 4" X 4" HINGE STEEL

11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2" PFH WOOD SCREW STEEL

21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

0.75"

4.56"

1

1.44"

213"

COMPOSITE JAMB
WORLDWIDE "4EVER"

0.5" —

— ]_5" p—

LVL INSERT
| Aots'x2.7)

3 %
2 ; 5" ?
@COM POSITE MULLION
2.44" ‘

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

—1.38" =

4.8" W!

15 OUTSWING THRESHOLD

Columbia

CONCRETE ANCHOR NOTES:

edge distance to mortar joinfs.

. Concrete anchor locations at the comers may be adjusted to maintain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

"MIN. CLEARANCE |

[\
\\\\ Il’/
7
\\\\ ooooooooo //,
A QY o
Q- B 2
.y .‘. [« .ow: ")
S A L ATG P
=5id 2 LN
et . &= bom
=932 2 OzP sam
- W _-’m\sz 0 g O
$ g B \\ <,:.cll')
7 )'. L O s
7, .. S J9wo
72,7 vl d. N = J 4
/4 \ Zow
’ W ©
’““ THA N 83"‘5
2. (_-)xzog)
v U o
£ Eao meﬂf
g £o Q9 . cuw
O o = o0
~lE vl S%cepm
INE LS Do
Sla
ISR B4 .
e ¢
~1g 52 §
L15 o,
818 su
Sla 24
O Oz
z9| Y,
ol =&
g ES
20l 53
U’S E)j =0
3el5 538
) _gla e
3 L RSN
[ 5 x| M
B 2 e
'...
2 %
hY o
>—
§ m
2]
=
o
N
ol
o
B
<C
[
MIN, CLEARANCE] S
ADJACENT =

,3". :

DATE: 3/10/22

wood screws to prevent the splitting of wood.

scale:  N.T.S.
DeWALT N . . - DWG. BY: RW
ULTRACON:| 174 1-1/4 1 4 k. B LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41467.6

SHEET 13 oF 13

© 2022 R.W., BulLbiNG CONSULTANTS NG,




